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CPE-4 : UNDERSTANDING THE PRIMARY 
SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

Answer the following question (1 & 2) in about 
600 words. 

1. What is meant by disadvantaged home 
environment ? Discuss the role of environment in 
the growth and development of a child. 

OR 

Discuss any three social evils which are wide 
spread in our Country. Suggest the remedies to 
remove these evils. 

2. What is Integrated Child Development Scheme 
(ICDS) ? Discuss the package of services under 
this scheme. 

OR 

Discuss the early stages of language development 
and state their importance for language 
development at a later stage. 
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3. 	Answer any four of the following questions in about 
150 words each. 

(a) Explain the role of home in the language 
development of a Child. 

(b) Distinguish between physiological and 
socio-logical needs. 

(c) Describe the needs of a primary school child. 

(d) Discuss briefly the role of play in the 
development of a child. 

(e) What is heredity ? Explain briefly the role 
of heredity in the development of a child. 

	

4. 	You must have attended the counselling session 
at the study centre. Discuss the role of an 
academic counsellor during the counselling 
session. 

Prepare a small report on your experience with 
some concrete suggestions. 
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